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POLITICAL SCIENCE
Paper 11
Time Allowed : 1% Hours] [Maximum Marks : 100

Note — This question paper contains fifty (50) multiple choice questions. Each

question carries two (2) marks. Attempt all questions.

1. Which one of the following is the appropriate alternative of ‘Upparva’ in

Shantiparva ?

(A) Rajdharmanushashan Parva, Aapdharmanushashan Parva,

Mokshadharmanushashan Parva
(B) Aapdharmanushashan Parva, Niti Parva, Rajyanushashan Parva
(C) Sabha Parva, Bhishm Parva, Sabhakriya Parva
(D) Dhuvit Parva, Rajshui Parva, Anudhuit Parva

2. Which one of the following correctly describes the nature of Plato’s

justice ?
(A) Distributive (B) Reformist
©) Mofal (D) Economic

3. All social contract thinkers agree on wﬁich one of the following ?
(A) State of Nature (B) Conditions of Contract
(C) Outcome of the Contract (D) Nature of Sovereignty
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4. Match the following and choose the correct answer from the given codes :

Thinkers Ideas
() Jeremy Bentham | (1) Nation-State
@) J.S. Mill (2) Women Suffrage
(ii1) Hegel (3) Welfare State
(v) T.H. Green ' (4) Common Good
Codes :

(A) (@©)—3), (i1)—2), (i)—(1), (v)—(4)
B) @—3), ()—2), (i)—(4), (v)—(1)
(C) (i) —4), (@)—(3), (Fii)—(2), (v)}—(1)

D) @), @E)—3), @)—2), (iv)—4)

5. Cultural imperialism is based on which one of the following idea ?
(A) Hegemony (B) Acquisition
(C) Trade | (D) Capital
6.. The concept of ‘well ordered society’ is associated with which one of the

following ?
(A) Robert Nozick (B) John Rawls

(C) Charles Taylor (D) Michael Sandal

T.B.C. : 1517/ET—II 4
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7. Arrange the following books in chronological order in terms of their

publication :
(i) Hind Swaraj
(@) The Life Divine

(zi1) The Annihilation of Caste

(iv) Reason, Romanticism and Revolution

Codes :
(A) @), (D), (D), Gv) B) @), (), (i), (v)
(C) @), Gv), Gi), Gii) (D) @), @), (iv), (i)
8. (A) Post-behaviourism focuses on a balance of facts and values.
(R) The purpose of post-behaviourism is to promote inter-disciplinarity.
(A) (A) and (R) are right and (R) is the correct explanation of (A).
(B) (A) is right, (R) is wrong.
(C) (R) is right, (A) is wrong.
(D) (A) and (R) are right but (R) is not the correct explanation of (A).

9. Which one of the following is not a part of Macpherson’s model of liberal

democracy ?

(A)

(C)

Protective Democracy (B) Promotive Democracy

Developmental Democracy (D) Participatory Democracy

T.B.C.: 15/17/ET—II | 6
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10. Which one of the following books is not related to Saint Thomas Aquinas ?

(A) The Regimine Principum (B) Summa Theologica

(C) On Kingship (D) The City of God

11. Which among the following was the main objective of Aristotle studying 158

constitutions ?

(A) State (B) Revolution

(C) Slavery (D) Justice

12. Who was the exponent of the Structural-Functional Approach in comparative

politics ?
(A) David Easton (B) Almond Powell
(C) Lucian Pye (D) Sydney Verba

13. Which one of the following countries does not have a written constitution ?
(A) Burundi (B) Australia

(C) Russia 4 (D) Israel

T.B.C. : 15/17T/ET—II 8
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14. Which one of the following is not the characteristic of the parliamentary

form of government ?
(A) Legislative-Executive fusion of power
(B) No confidence motion by the Legislature against the Executive
(C) Collective Responsibility
(D) A fixed tenure of the Government
15. The practice of filibustering is associated with which one of the following ?
(A) United Kingdom (B) United .States
(C) United Arab Emirates (D) United Nations
16. Who gave a seven-fold classiﬁcaﬁon of parties and party systems ?
(A) Ostrogorski (B) Robert Michels

(C) Maurice Duverger (D) Geovanni Sartori

T.B.C. : 15/17/ET—II 10
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17. Match the following and choose the correct answer from the given codes :

Thinkers Concepts
(i) Sydney Verba (1) Input-Output
(z) Lucian Pye (2) Political Development
(tii) David Easton (3) Political Modernization
(iv) Edward Shils (4) Civic Culture
Codes :

(A) ()—4), Gi)—(2), (i)—(1), (v)—3)
(B) ()—(3), (i1)—(2), (Gii)—(1), Gv)—(4)
(C) ()—4), @)—(3), (i1i)—(2), (Gv)—(1)
D) @)—(2), ((i)—(3), (ii)—(1), Gv)—4)
18. Who among the following compared revolution with fever ?
(A) Barrington Moore (B) Crane Brinton
(C) Samuel Huntington (D)' Theda Skocpol
19. Who coined the idea of ‘governmentality’ in his analysis of power ?
(A) Michel Foucault (B) Nicholas Rose

(C) Francis Fukuyama (D) Robert Nozick

T.B.C.: 1517/ET—II 12
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22.

23.

Who equated Latin American politics with ‘a living museum’ ?
(A) Karl Lowenstein (B) Andersen
(C) Zolberg (D) None of these

Mahatma Gandhi used Satyagraha for the first time in which one of the

following :
(A) Champaran Satyagraha (B) Rowlatt Act Movement
(C) Non-Cooperation Movement (D) Civil Disobedience Movement

Who was the legal advisor to the Drafting Committee headed by

B.R. Ambedkar ?

(A) T. Prakasam (B) B.N. Rau

(C) R.S.R. Rgnga Rao (D) Pattabhi Sitaramayya
Subaltern discourse is related to which one of the following ?
(A) Elites (B) Capitalists

(C) Middle Class (D) Marginalized Groups

T.B.C. : 15/17/ET—II 14
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27.

Right to Privacy is related to which one of the followingA articles ?
(A) Article 19 (B) Article 20
(C) Article 21 (D) Article 22

The 100th Constitutional Amendment Act deals with which one of the

following ?

(A) Creation of Telangana

(B) Land Boundary Agreement Treaty between India and Bangladesh
(C) Goods and Services Tax Act

(D) National Judicial Appointment Commission

In which year the first coalition govern'ment was formed at the centre ?
(A) 1967 | (B) 1969

(C) 1989 (D) 1991

Which one of the following is a correct statement with reference to

discretionary powers of the Governor ?
(A) Not described in the Constitution
(B) Described in the Constitution

(C) No 'discfetionary powers

(D) Discretionary powers without description

T.B.C. : 15/17/ET—I1 16



24. Tromn & sifieR =1 ey frm 4 § 5w egeR ¥ 7

(A) arﬁam (B) =R 20
(C)  AT=R 21 (D) AT=R 22
25. 1ooaiﬁﬁaﬁésﬁmaﬁ4ﬁanﬁmﬁﬁﬁq§ﬁéﬁm%?
(A) e i
(B) ¥R iR seeyl & WA YfH T F
(C) &x & an #w afufeEm
D) T =t Pk s
26. 3<% T w99 TeEyd WaR fEg ad H e 2
(A) 1967 ~ (B) 1969
(C) 1989 (D) 1991
217. Wﬁwﬁéﬁwwﬁ%dﬁaﬁﬁmﬁﬁﬁwmm@%?
(A) dfgym # afvfa & €
) e At 3
(C) =& Wiags ufe & &

(D) v @fagst wifsal

T.B.C. : 15/1T/ET—II 17 P.T.O.



28. Which one of the following committee is not related to Panchayati Raj ?

(A) Singhvi Committee

(C) G.V.K. Rao Committee

(B) Narasimhan Committee

(D) Ashok Mehta Committee

29. The correct abbreviation of NITI in NITI Aayog is :

(A) National Institute for Transforming India

(B) National Institution for Transforming India

(C) National instrument for Transnational India

(D) National Institution for Transformative India

30. Match Political Parties with their election symbols and choose the correct answer

from the codes :

Parties
@ AIDMK
@) BJID
(i) AGP
(fv) TRS

Codes :

(1)
(2)
(3)
(4)

(A @O—D), @)—2), @GEi)—3), (v)—4)

(B) ()—(4), ({)—3), (i1)—2), (v)—(1)

(C) @)—2), (iD)—1), @D—(3), (iv)—4)

M) OH—2), @)—1), Gi)—4), (v)—3)

T.B.C.: 15/17/ET—II
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31. ‘Publi¢’ in Public Administration refers to :
(A) People
(B) Government
(C) Citizens
(D)» All institutions of public interest
32. What doeé the term ‘SALA’ meaﬁ in public administration ?
(A) Administration of developing coimtries
(B) Economy of developing countries
(C) Social System
(D)_ Political Culture
33. ‘Gangplank’ is related to which principle of organization ?
(A) Delegation (B) Hierarchy
(C) Span of Control (D) Unity of Command

34, Who defined development administration as ‘goal-oriented’ and ‘change-

oriented’ ?7
(A) Edward Weidner (B) F.W. Riggs
(C) Nicholas Henry (D) W. Ross Essman

T.B.C. : 15/17/ET—I1 20
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35. Which country introduced recruitment system through competitive

examination for the first time ?
(A) China (B) USA
(C) UK (D) France
36. Match the following authors with their works :
Authors Works

(i) Elton Mayo (1) The Human Problems of an

Industrial Civilization

(ii) Henri Fayol (2) Industrial and General
Administration

(izi) F.W. Taylor (3) Principlgs of Scientific
Management

(iv) Max Weber (4) Economy and Society

Codes :

(A) ()—4), (i) —(3), @ii)—(2), (iv)—1)
B) @)—(1), ()—2), (iii)—3), (v)—4)
©) @)—(2), Gi)—(1), ({ii)—3), (v)—4)

D) @)—(2), @)r—(1), i) —4), (w)—3)

T.B.C. : 15/17/ET—I1 22
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(A) (@)—4), @) —3), Gi)—(2), v)—1)

B) @)—(1), () —2), (@i)—3), (v)—4)

(C) ()—(2), ()—1), (@i)—(3), (v)—4)

D) @H—2), ([(H)—1), ({Ei)—4), (iv)}—3)
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37. As per the latest Corruption Perceptions Index which of the following

nations are listed as the most clean nations ?
(A) New Zealand/Denmark (B) Sweden/Switzerland
(C) USA/UK (D) Somalia/Sudan
38. Which of the following is the characteristic of good governance ?
(A) Legality (B) Transparency
(C) Accountability (D) All of these

39. Who introduced the idea of Lokpal for the first time in Indian

Parliament ?
(A) Lal Bahadur Shastri (B) K. Santhanam
(©) LM Singhvi (D) Atal Bihari Vajpayee
40. Right to Information was introduced by which constitutional amendment ?
(A) 86th Constitutional Amendment
(B) 92nd Constitutional Amendment
(C) 93rd Constitutional Amendment

(D) None of the above

T.B.C. : 15/17/ET—II 24
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41. American political scientist John Mearsheimer is associated with which one

of the following ?
(A) Classical Realism (B) Neo-Classical Realism
(C) Structural Realism (D) None of these

42. Match the following and choose the correct answer from the given codes :

Theory/Approach Thinkers
(@) Decision Making (1) Morton Kaplan
(1) Systems (2) Richard C. Snyder
(iti) Communications (3) Michael W. Doyle
(fv) Idealist (4) Karl Deutsch
Codes :

A) O—2), Gi)—1), GiD—3), (v)—4)
B) ()—1), () —2), GiD)—(3), (v)—4)
(©) ()—4), Gi)—), ({ii)—2), (v)—3)
D) ()—2), (i)—1), Gi)—4), (v)—@3)
43. Who is the author of the famous work on theory of war titled ‘On War’ ?
(A) Kenne;ch Waltz (B) Immanuel Kant

(C) Karl von Clausewitz (D) Thucydides

T.B.C. : 15/17/ET—II 26
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44,

45.

46.

47.

United Nations Medal named after its former Secretary General Dag

Hammarskjold is awarded to :
(A) Outstanding members of Economic and Social Council

(B) Members of peace-keeping operations who have lost their lives during

service
(C) Outstanding Judges of International Court of Justice
(D) None of the above
Helsinki Accords was the final outcome of :
(A) Conference on Security and Cooperation in Europe, 1973
(B) World Commission on Environment and Development, 1987
(C) World Conference on Human Rights, 1993
(D) World Conference on Women, 1975
Who said, “whenever law ends, tyranny begins” ?
(A) Thomas Hobbes | (B) John Locke
(C) Jean Jacques Rousseau (D) John Rawls

Which Secretary General of the United Nations prepared ‘An Agenda for

Peace’ ?
(A) Kofi Annan (B) Antonio Guterres
(C) Ban ki-moon (D) Boutros Boutros-Ghali
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45.

46.

47,

HH Td HEWiEd 3 TATEICS @ AW W HgHW TR ®E 4 § § fewe

S ¥ ?
(A) onfdw iR s ot & IeoEHg 98w

(B) vifa M9 FEdaEal & T % =R Qa1 & S 3 staq &1 afees
fear &

(C) AU =aed & Seai@Hd =i

(D) 3w H ¥ FE &

At gugia w1 § ¥ feae oifaw uftomm 9 2
(A) g I foRfEdt ds ®MEm 3 309, 1973
(B) %@Wﬂaﬁm@%ﬂw,ww
(C) ac€ &hy 2 T 3™, 1993

D) ¥ FHF A 7, 1975

frat wa o, ‘S oft FE T S S, SRR WRY g ¥ 2

(A) ®fTE eeq B) W @i
©)  d=ww T (D)ﬁﬁuaq

g TR B W Teefa ¥ ‘w7 we WK’ AR fE 2
A) e | ®) = wE

(C) [ wI-gd (D) FaH g™ =Tl
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48. Which of the following is not true ?

(A) Organisation of Petroleum Exporting Countries (OPEC) was founded in

1960 in Baghdad.

(B) Islamic Republic of Iran, Iraq, Kuwait, Saudi Arabia and Venezuela were

the founding members of OPEC.

(C) Ecuador and Indonesia suspended their membership of OPEC but

re-joined in 2007 and 2016 respectively.
(D) OPEC terminated Iraq and Kuwait’s membership in 2009.

49. Name supersonic cruise missile recently tested by India which can hit

targets as far as Straits of Malacca :
(A) BrahMos - (B) Prithvi III
(C) Agni II | (D) Nirbhay
50.  Which of the following are five original members of ASEAN ?
(A) Indonesia, Mélaysia, the Philippines, Singapore, Vietnam
(B) Indonesia, Malaysia, the Philippines, Singapore, Thailand
(C) Brunei Darussalam, Malaysia, the Philippines, Singapore, Thailand

(D) Brunei Darussalam, Malaysia, the Philippines, Singapore, Vietnam
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48. P i A I AT & ¢ ?
(A) Ufeem frafas I &1 @167 (300%) 1960 H IRE H 7fea gam|

(B) STl TR $TH, U, Had, 9381 Rfean o) aftsuen oibs & Seangs

w4

(C) TEErER iR TSRy 3 3t oite weegar wfim X <t foeg ®wen: 2007

W& 2016 H YA: TR HT
(D) TF R HIG & 2000 H 0% F e ¥ Frewifga T g man)

49. YRAFE w5 fewe w1 W SO frew uwd Y wa @ § g fE § a
ol Bem F ToEE 9F @8 e @ & ¥ 2

(A) wEE (B) q#ﬁm

(C) &fF II (D) fasfa
50. fre § @ wrR dl9 wfEEE @ Yw W § 2

(A) FERfern, wafmn, fefadn, MR, faaaam

(B) Eerifym, wafem, feferda, famy, o

(©) w3 <Ewm, wafrn, frfaie, fimg, adde

D) w4 <o, garmE, frfadw, g, s
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